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MATIIEMATICS
(English & Telngu Medium)
| PART - A & B In
Class s VIII | (Max. Marks : 80) M

Instructions :
1. Question paper contains 2 parts (Part A & B).
) Do (grifo - A, B) Dot derrrenotsron.
2. Part - A & B should be given at the begmnmg of the exam only
- HB% L&doﬁoeﬁ“‘é o - A & anee erifo - B DG ErE 2dgHS%.
3. 15 minutes are allotted for reading the question paper (Part A & B)
in addition to 2. 30 ‘hours for writing the answers. -
BTG S0 (erifo - A B) 75653@?565":0@ 15 .00, aa;raww voﬁowaé
2.30 aéooﬁao f.‘sroéooo& o : :
4.. Part—A answers should be wrltten in a separate answer ‘book.
Part - B answers should be written in questlon paper itself.
2o - A eS‘&) @e;ps&: coémcrmen (oasyqr:é a@oé‘sé oSS,
erifo - B &0 @Hos oéymmm §J°cs° :oé:vcs"sé 0@06‘5 o*oﬁré’)
5. There are three Sections in Part - A. e
Cerfio - A S° 2535°c§a é’.)a,rn"’e;o ﬁroérooo".fffiw‘fvfl"f;‘ff'
6. Answer all the questlons L odes '
| '@‘Ql @%ﬁp&) &aﬁrcp"(‘éo U°o$3°é’) s
7. Every answer should be v1snble and leglble SR
- ddrerdo. cD‘DoJ.Oﬂ"’ ®go @dfoger U"o‘.’m@ s
8. There is an internal chmce in Section - III ey
Derfio - 1T &* 5?@535 @oéﬁdeﬁ Joaé fx“voéooo&

- 'Marks :60]\ Ch PART SA e E .- [Time:ZHrs.
' ' '  SECTION-T o
Note: i) Answer ALL the following questlons L oo
) (HF) 0% T gohob. »
i) Each question carries 2 Marks,
9 @%ﬁﬁb Dok KL, L0 »
1. Name the property under multlplncatlon used in the followmg
s 8o 659%3 Eob T D (55;,0 ﬁso‘a\moamo&«;

4x2=8

2 2 x4 _4 x 14
o iy .__,_._,11 = — d
i) 3.xl_lx-——3 =3 ) X5 7 X3
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. ach eXter;
- 2. Fmd the measure of e for an

: Note_ :'

When a die is thrown list the Outeg

. Find the cube root of 512 by prims factg
: @m‘é 5*egof HES TIT° 512 Rook 4,

Solve SXit 9= 5 +3x.

X9 5+ 3x & #&oﬁoé

I '._.'In the ﬁgure ABCD 1s a parallelogram

Fmd the values of unknowns Xe YoZos
TeeeRe ._:@éb o)éaoeS‘ ABCD 3)§ (oassvoéé z‘.ﬁé:doz)ao
Rt {f»@@oﬁo&) O‘-‘ei)e:o X,y5 Z é’.)e:oa’aoéﬁa §£6.)§‘L,oé
'.';,A_Convert the followmg ratios in to percentages

2

g € Ofa . i
gdo eomnﬁ)&. W) & regular Polygon of 9 sides.
mes 0
& DKL (5"8071)«‘5“?)&3 Lgo& MWKy an@evcr:it{sf geglng
e
SDEGIITOR U"°53°& §300g ey

i) Anodd number = i) Ay,

mber jegg than 3
B0 Sopg Sup - 3y

°8 9%) % NOpg Hiinyeaso

tori llatlon method.

 SEC &mwg)gééogboé
: -S-M“\Il o

1) Answer ALL the followlng questlons
@;)l @61653 a:‘aow) @"3530&

n') Each questron carrles‘{i Marks
@8 @%ﬁo 4 sirdazrm e

~95x4=20

5 vLéofb K)Qu)e‘éaoﬁ: %’G‘e)ejsg wdt}oé

Di:2 )3 5

: Laharr makes a c
How many such
LR R IS

ubord of plastrcrne of srdes 7 cm, 2 cm, 7 cm.
cuboids will she need to form a cube ?
7 %0, 2 (ooﬁ’.b 7 0.0, Podeske o8

% 5§>¢°@‘Ql 25053‘533500& o8 @350 a’smwag om@g @eroéS 8%

- PRS00 ) S50i%7
.,Represent %

; (D) 64 as sy 4

8 odd i |
(i) 6455 8 ey numbers

4o Somse; $55SE0B.
(i) 100 oL S 8§ Foogorr Sg&

5 of 10 g
: '_,(ll) 1005 10 ﬁe odd number
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. e ' SECTION - I
Note i3+ 1) Answer ALL ththons
: ) @-‘éle:éo BT Pasob.
- ii) Each question carries § Marks.
e @?«ﬁé& 8 o“wcs;zrm
iii) There is an internal chojce for every ques‘tlon
L) @ﬁ&ﬂ) ©08ES JobY Eeri. , 4%8=32

1_0.‘a) Using appropriate properties find .
&35 Q’)O‘“&p& fi‘ydﬁwﬂoﬂ) L@o&) 3)005253 ézéoﬁ":éoé’a

S A R G K R e
."-_5x(7) X g X S
_b).k,Solve 3x -g— = + 15 i
Lo omeg =g 4 15 % @*’@o{)o& ,
- 11.a) Writea pythagorean tnplet whose one member is 6.
e .1,6 28 & @omgm ﬁo am&o @’9526.\3260 éeéoﬁ":éoé’s X
) .Keerthana purchasedadress’<'2200 1nclud1ng 10% tax Fmd the pnce
- of the dress before the tax was added.
885 2% @550 10% &8y (950)8° £0 ? 2200 % 5":6;& érg“)(a@;)
S L LS B HE S0 @o Dendo é:&o§‘bo& :
s 2, a) 1) PQRS is arectangle Its dlagonals o

meetat 0. If OR = 2x.+4,0Q = 3x+1 “‘S\‘ _
then ﬁndx = \\ ,ﬁ.}/_ ;
PQRS 2.8 %zmd@o >0 Sy O'sg | X
BenRooosrron. OR =2x +4, OQ 3x+1 S T E
@oNd X DS ééog‘z,o& o ERnp Q

ne 11) State whether true or false. -
0@5530" @coe‘ﬁgi;l? @oao&’s :
- A) Allsquares are rectangles
- Q) HFHF &g zﬁeﬁod@vm @@@’oao
B) All kites are rhombuses -
‘mOHEIBHN 0 @93)0) CroRen
O All rectangles are lrapezmmg
&g,ﬁ@ad@'*vé) Bohzeho'ey
D) All parallelograms are not Wawﬁzmms
coa’)::‘oéd 5653539&3?53&’”(3&)\) (‘53;3&)23@&0 @J N
' (Or)
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TR0 éoa)g B

b) The measures of two adj :lgént angles of 5 Parallelogram are in the ratio
'3 - 2. Find the measures of cach of the angleg of the parallelogram.
o ro8S BEo0’ 00 GBS, Suge 5 ; 5 pget

TN, & 557088 SECPROTD B8 o Pedss 8508% 08.

13. a) The number of students in a hostel speaking different languages is

given below. 5 i ; |
a8 SJBIYT~0 (KJ‘Q@@G QDR arlebs St s :)U“gdges v I

808 HEES* agpEmon. & CEOT) S)f Barages wrbod.
Display the datain a pie chart. | |
& SeroT) SyBdP DF0D® ErHod.

Langﬁages‘ Hindi. English' Marathl Tarml Bengali | Total
Ut &Oﬁiﬁ 1753,575 - BDYo aomé)/' 235806
students | 40 | 12

-

o

) Numbers from [ to 10 are writfen on ten separate slips (one number

- ononeslip) keptinabox and mixed well. One slip is chosen fromthe

- box with out looking into it. What is the probabilityof
FEg8 Do 15008 10 568 Sopgod Td (2858, 8D 28
Dopgld TR) 28 EeS® FR W EIHIT BoS* oo 28 DD

SSrdyREom E5i008 (§oB T8 HowrsgBosH §Hsyes.

2) Gétting'an even number e
o8 $0Bopg Sunbosy
b) Getting a number less than5
5 808 8508 Sompg Suinb®d
_ ¢) Getting a number greater than 6
6 808 280, Hopg 582)E080
d) Getting a 1 - digit number
2.8 ©odKe KSogpg SRR

L T @G
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MATHEMATICS =
(Enghsh&Telug“ Medlum){i,v s S R e
PART “B M e e T IR

=7y ~. % , "~ |Gradel” Grade |
AS—1 s agen ], A8 AS-4 .,As.-';,s T g0 = AL

576381

' Q.No {1-2

Py & =L T R ; B2
10-11 14-21 6l12|22-25{7|26-22 3-418 3(?~33 9|13| Total ;3332 c1
: ) el R g ket ] SR WA 5% 3340 = C2

‘283201

Makrks

o] o127 02

Tota! :

- Na&me @ﬁ'thesmdent »' i B i RollNumber...;;.L'.;.L;.,i g

i imstwctlons as’is:ém

‘ Answer ali ﬁhe questmns m Pan"t B

o grlie- B&D @20;_ @%leaéo @3‘&»@;@ @“oﬁ:é@:ﬁa

‘Each. queshon has 4 optnons erte the capntal letter mdlcatmg

~ the answer in the gwen brackets

o papn%4 SRS §oé) awf.)35 @e‘w 93& aérm&zﬁaazsn ari)oiﬁa :
. s;:,,._@oti @ééé}: @“dﬁag& SEER R e |
';’Marﬁcs are not awarded for over wmmg mswers
- Be3R, &8 @»a:s aa'ww& a’ard)b@a aéga»éaé) :
4) Each questlon carries 1 mark '

28 @%léa aaé 553'532,

=14
TR

'A)O

| : -VSE"C_TION-I'V» 20Xx1=20

ByISg - g1 D)_}o_gg

15, Sum ofmtenor angles ofapolygon ofS gides "= u i ! ]

5 2538‘0350 w0z ©o86 S 3ndo

A) 180 -+ B):360." | )540 ."1}- '  D)720
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16 Cube root of 64 is
64 B0E), oddorwo

175

18.

290
21.

2.

; @séaté Do - @&%}éo@ Be) =
A) Drscount s

C)38 | D) 10

A)4 B) 6 .
If—"————j—thenx= [ 2
4 p

N i) ‘ G

%:—Z—@oooé = L :
~ ; - 16 ‘ <

7 e L) : Il D)—28

A) 6 B) =T o ity E ) ',

Ramanujan number
ordrRonS dopg

A 1729 B) 1279 "?f.f’,;-C)“1972.~« = D) 1792
+40; -

Marked prlce sales prlce

- :"B) Dtscount percent
L Godosn 785N

63&33533

k ‘_C)Proﬁt D) Proﬁtpereent _ ey

“enesdn f" e e;wa;ﬁe‘éo e

Which of the folIowmg is notaperfect square number |
8od a"&)eS‘ 036095"6 3¢ oomg S‘&)& x e

A)256 - . B)8L . 0125 . D)225 -

A0Bof 0= 200 el S E e e, e .

A) 100 " B) 20 C) 1057 s D)l
When two coins are tossed togethe1 then total number of possible
out comes : [ ]

| Boths TBI0es a@iﬁ& Dmdﬁwé@c&) g0 S0g Eb.)éo

DEgEdTO domg
A)2

B)3

C)4. .

D) Two coins can't be tossed togethel

T B0t 3rBB00R0 E0 JKIES o5 SRS

© [Contd... 3rd
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53, In which of the following quadrilateral diagonals are perpendicular
[ ]

and bisects each other
808 BEyErost Bdest Eured )00 €od HHb

DOhS

DoLooTon
A) Rhombus  B) Rectangle C) Trapezium D) Kite
~ 0oBR BE sSo8H0 BH20%0 580

[ ]

nvex polygon, all the interior angles must be less than____

24. Inaco
o8 %058 eaomz;fmes‘@ R R oAC  — Lo B850 5 0tod
A)90°  B)180° C) 60° D) 360°
25. Which of the followmg is TRUE about rational numbers? [ ]
1§08 &r’é3e5‘ ©5SBoH @om§®§3 &0230505) D6 BsgSH 7
-~ A) Not closed under subtractlon :
égaﬁs’ec‘éoé‘ @oégéo s*é) =
B) Not closed under addltIOH* > /
‘ aoée:éoe’i‘ aoéaéo s*’@ ‘
C) Closed under: d1v1son ]
g0’ coo;Sgéo =
D) Closed urider addition and d1v1son we o
@050260 5060&33 2,311193‘560&3‘ aoéaéo S
26, Additive 1dent1ty is: 4 [ ]
Boged ée‘é\)ésvo%o, ' ‘ y
A)O BT = o= D)0 and 1
e ; g 0 o8 1
27. Which of the following is linear equation in one variable ? [ ]
(Bod aRe* D8 11550‘%&5*; '35)0:53 BHE800 | :
A)x*+2= 6 B)x+y 3 C)2x+1=5 D)x*=9
[ Turn Over
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28. x =2 satisfies which of the following equations' .

29.

- 30.

Bod TdS* D coboe'csgmg& X =2 8y 2 HEB0B?

A)x + 3 5 . B) x = 3 =1 .
C) 3 a ' D) All of the above
P5Q)

Smallest square number that is divisible by 4 and 6 is
4 %8050 6 ©fF erioSnd wd b)) ég «oospg

A)16 7. B)36 . o1 D)64('

G O A

(W)

‘ 'In the above ﬁgures Wthh are concave polygons

25

D

33

oé.re;es*’ 2a) ag)és"sﬁ aome‘,i)we;o 2
A) (@G el B ox (lu)
C) (ii), (iv) R D) (1) (11) (111)
Ina plctograph data is represented usmg ==
DL e’ d@o%*&)cl BDouesH -&oo‘:whoﬁo:s:)

A)Circles ,B) Rectangles C) Bars D) Plctures
Syzes - é&wé@(ﬁ@“@o : éi’)a&e» 5 25_"5;%@

Number of zeroes in the square- of 20 s
200 Boof), égoeﬁ‘“{() m@@ coong : sy
A)2 B3 O e D) s
A R G WA P

2 ¥ 3k 6t =8 i

3% + 4% 4 122 =132 then

42 1+ 5% 4202 =

124,07 4 222132

22432 4 62 =7 ,

3% 142 4122 = 132 @oaaa

4% + 5% 4 202 =

A)17 B) 197 ROy 212, Dy 23t



SUMMATIVE ASSESSMENT -1-2023-24
VIl CLASS-MATHEMATICS-solutions
Prepared By: Balabhadra suresh

1. Name the property under multiplication used in the following.

D 2x1o1x 22 la 4 4 14
V3 =Ixgm=3i) FXxg=7%3

Sol: i) Identity property. ii) Commutative property
2. Find the measure of each exterior angle of a regular polygon of 9 sides.

360°
= 40°

Sol: The measure of each exterior angle of a regular polygon of 9 sides =

3.  When a die is thrown list the outcomes of an event of getting i) An odd number ii) A number
less than 3.

Sol: When a die is thrown sample space={1,2,3,4,5,6}

i) The list of outcomes to get an odd number= {1, 3, 5}

512
ii) The list of outcomes to get a number less than 3= {1, 2} é [oce
4.  Find the cube root of 512 by prime factorization method. 2|128
2| 64
Sol: 512=2X2X2X2X2X2X2X2X2 2[32
216
V512 =2x%x2x%x2=38 2 g
SECTION -II 214
5. Solve 5x + 9 =5+ 3x 2

Sol: 5x + 9 =5 + 3x

5 —3x=5-9
2x = —4
===

6. Inthe given figure, ABCD is a parallelogram. Find the values of unknowns x,y,z.

Sol:  In parallelogram opposite angles are equal

x =110°

In parallelogram ABCD, AB|| DC

z = 50°( Alternate interior angles)

y +z+ 110° = 180°(Angle sum property of a triangle)

sureshmathsmaterial.com Page 1




y +50° + 110° = 180°

y + 1609 = 180°

y = 180° — 160° = 20°

% = 1109y = 20°: 2= 50°

7.  Convert the following ratios in to percentages.
)1:2 ii) 3:5

1 1
SOki)l:z:E: EX 100% =1 X 50% = 50%

3 3
i) 3:5=§=§x100%=3x20%=60%

8. Lahari makes a cuboid of plasticine of sides 7cm, 2 cm, 7 cm. How many such cuboids will she
need to form a cube.

Sol: Volume of cuboid=7cmX2cmXx7cm
To make cube we multiply with 2x2x7=28
Number of required cuboids=28

9. Represent
(i) 64 as sum of 8 odd numbers.
(ii) 100 as sum of 10 odd numbers.

Sol: (i) 64=1+3+5+7+9+11+13+15
(ii) 100=1+3+5+7+9+11+13+15+17+19

SECTION-III
10. a) Using appropriate properties find
2 -3 1 3 1 2
5%(7)-5% 7+ "3

y §

_ 2 3 1 2 1 3 " s - .
_5x(_7)+14 5—6><2 (by commutativity under addition)
_2x< 3>+2x1 1.5 & e ltiplication)
=g Z X171 T8 %3 y commutativity under multiplication
_ x( N L T

- 7" 14 277 y distributivity
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Z =5 1

==X ———

5714 4
-1 1 —-1x4-1x7
7 4 28
_—4-7 11
28 28

b) Solve 3x + > = = + 15
) Solve 3x 2=3

Sol:3x+> =% 415
0ol: oXx 2—2

5 x
2x3x+2x5=2x5+2x15
6x+5=x+30

6x—x=30-5
5x =25

25
x=?=5

11. a) Write a Pythagorean triplet whose one member is 6

Sol: We know that 2m,m? — 1 and m? + 1 form a Pythagorean triplet
LetZm=6=>m =3
Wegetm?—-1=32-1=9-1=8
m?+1=324+41=9+1=10
The triplet is 6, 8, 10.

b) Keerthana purchased a dress X 2200 including 10% tax .Find the price of the dress before the tax
was added.

Sol: Tax=10%

Price before tax | Price including tax
100 110

x 2200

x %X 110 =100 x 2200

_ 100>2200 _ 00 % 20 = 2000
X="q10 x4 =

The price of the dress before the tax was added=X2000
12. i) PQRSis arectangle. Its diagonals meet at O.If OR=2x+4, 0Q=3x+1 then find x.

Sol: In a rectangle diagonals are equal and bisect each other.

S R
= OR=0P =0S=0Q
=>3x+1=2x+4
=>3x—2x=4-1 O
=>x=23 P
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ii) State whether true or false.
A) All squares are rectangles.—»True
B) All kites are rhombuses.—False
C) All rectangles are trapeziums—True
D) All parallelograms are not trapeziums—False

b) The measures of two adjacent angles of a parallelogram are in the ratio 3 : 2. Find the
measure of each of the angles of the parallelogram

Sol: The ratio of the measures of two adjacent angles of a parallelogram=3:2

Let the angles be 3x and 2x

3x + 2x = 180°(Adjacent angles in a parallelogram are supplementary)

5% = 180°
180° Dy —C
X = = B6°
50 T e
In a parallelogram opposite angles are equal. 0D s e
ZA = A0 = 3x = 3x 36" = 108° A™ ~=B

B = D=2x=2%36"=72°

13. a)The number of students in a hostel, speaking different languages is given below. Display the

data in a pie chart.
Language Hindi | English | Marathi | Tamil | Bengali | Total
Number of student | 40 12 9 7 4 72
Sol:
Language | Number of student Fraction Central angle
Hindi 40 40 40
— — % 360° = 200°
72 72
English 12 12 12
— — % 360° = 60°
72 72
Marathi | 9 9 9 . .
ﬁ ﬁ X 360° = 45
Tamil 7 7 7z . i
ﬁ ﬁ x 360° = 35
Bengali 4 40 4 0 _ 900
= = x 360° = 20
Total 72
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English
Marathi

D

b) Numbers 1 to 10 are written on ten separate slips (one number on one slip), kept in a box and
mixed well. One slip is chosen from the box without looking into it. What is the probability of
(i) Getting an even number ? (ii) Getting a number less than 57 (iii) Getting a number greater
than 67(iv) Getting a 1-digit number?

Sol: ~ Sample space={1,2,3,4,5,6,7,8,9,10} , Total all possible outcomes=10
(i) Favourable outcomes to get an even number are 2,4,6,8,10

1
Probability of getting an even number = 0°-32
(ii)Favourable outcomes to getting a number less than 5 are 1,2,3,4.

2

Probability of getting a number less than 5 = 0°=3

(iii) Favourable outcomes to getting a number greater than 6 are 7,8,9,10

2

4
Probability of getting a number greater than 6 = 0%

(iv) Favourable outcomes to getting a 1 — digit number are 1,2,3,4,5,6,7,8,9

9
Probability of getting a 1 — digit number = 10
SECTION IV
14.B 17. B 20.C 23.A
15.C 18.A 21.D 24.B
16. A 19.A 224G 25.
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26.A 28.D 30.C 32.A(0OR)C

27.C 29.B 31.A 33.C

14, 2w _ 1
17 7 14
15. Sum of imterior angles of a polygon of 5 sides = (5 — 2) x 180° = 3 x 180° = 540°

16. Cube root of 64 is 4
17. If 2= thenx = -7
4 4
18. Ramunujan number=1729
19. Marked price-sales price=Discount

20. Which of the following is not a perfect square number [ C ]
A) 256 B)81 C) 125 D) 225
21. 10% 0f 10=-—=x10=1
22. When two coins are tossed together then total number of possible outcomes=22=4
23. In which of the following quadrilateral diagonals are perpendicular and bisects each other[A]
A) Rhombus B) Rectangle C) Trapezium D) Kite
24. In convex polygon, all the interior angles must be less than 180°.
25. Which of the following TRUE about rational numbers?
C) Not closed under division
26. Additive identity is 0.
27. Which of the following is a linear equation in one variable?
C)2x+1=5
28. x=2 satisfies which of the following equations
A) x+3=5 B)x-3=-1 C) x/2=1 D) All of the above
29. Smallest square number that is divisible by 4 and 6 is 36.

30.
(@) (if) (iii) (iv)

In the above figures which ae concave polygons

C) (iD),(iv)

31. Ina pictograph, data is represented using Circles.

32. Number of zeroes in the square of 20 is 2 and square of 200 is 4

33. 124+224+22=32%; 22432462 =7% 32+ 42 +12% = 13? then 4% + 5% + 20? = 212
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